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specialmatricesdmatrixpr.pe/-ies-
• The product of two matrices A & B is noting
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AB =/ BA in general .
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• The product of diagonal matrices is a1wqtEe .
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• If givenB, 7 A such that AB = B A = I
,

then B is said to be " invertible " and A = B-
^
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→ In general , finding A
"

for a given A is a difficult
problem and there are cases where there is no solution
(more in future videos f) . However
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• ( I 1) ← not invertible ?

• If U =
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upper triangular
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(non - 2-erosoudd above )then
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• Given M
, of size mxn
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(sometimes Ñ )

•
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• With these definitions , we further define . . .
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"

Ei
"

F-
-9 ' ( ab b.)

T

= ( g 1) , any a. b. c

• A = - AT → A is
"antisymmetric
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• By the way . . . for any square uvtrix M ,

M = 7- * -2M = MEI + M÷MT
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•
H = Ht H is
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Hermitian
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•
✓ =V
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→ V is
"
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g. (cos 0 Sino) usually represent

-Sino coso rotations

case since

(
cost - Sino

)
= (; ;)(Sino Cosi) +Sino Corso

•
Ut = V1 → 'U is
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unitary "
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This is one of the Pauli
matrices

.
It is also

Hermitian
.
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